e
W

ul

A

e

.

ull

mﬂ_
il

.

ull

ba, = 2
2 Aol ]

S




AA v Ad cel AR FYYUL @, @, @] WolE 27
A = F5hA L.

- - L
/
Tem ! /@/ &) ©@
- N _ =
5cm 5cm ocm

> = on?
> = o’
> = o
> HE 350m?
> EHE D 35cm?
> EHE D 35cm?

@ : 5x7=235(cm?)
@ : 5x7=235(cm?)
@ : 5x7=235(cm?)
W o] Zo]g} o]7} o Bz Holrp Tt




3.

Artelze) Yol & patelm guick. [ Jer] Sz

TOFA L.

_-12cmo _

/4
[
9cm
v
\
w1

TT-20cm--"

Ararzel wol)= ((J+[ ) x[J+2=J(em?)

9]

SH

o

Sy} o2& Zhol Attt & Q] Yo & ) YTt
= SH: 12cm, °FH D 20cm, =°]: 9cm

(A E2] Hol)= (12 + 20) x 9 + 2 = 144( cm?)
wakA] 12 420 4+ 9 + 144 = 185 YUt}




4.

T~6cm- "~

(reazel gol)= [+ )x[J+2=[J(em?)

> E:

> & 31

B

(AeFEE] Hol)= (34 6) x4+ 2 = 18(cm?)
[ tell 5012 52 Az i,
3,6,4,18 JHth

w2t o] 59 g2 31 Yyrh




(A 3EA] Ho]) = 22 x 16 = 352(cm?)
(2 A2 ] Hol) = 18 x 8 = 144( cm?)
wrakA, (22 x 16) — (18 x 8) = 208( cm?)
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